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Topic:- General English

1) Out of the given four words only one is spelt correctly. Find the word that is
correctly spelt.

1. Repetition

2. Reecieve

3. Riciept

4. Reecommend
Correct Answer :-
» Repetition

2) Out of the given four words only one is not spelt correctly. Find the word
that is not correctly spelt.

1. Presence
2. Prejudise
3. Principle

4. Privilege

Correct Answer :-

« Prejudise

3) DIRECTIONS: Find the word which can be replaced for the given sentence.

A minister representing a sovereign or state in a foreign country



1. Prophet

2. Hermit

3. Ambassador
4. Traitor

Correct Answer :-

« Ambassador

4) DIRECTIONS: Find the word which can be replaced for the given sentence.
The art of beautiful handwriting.

1. Cosmography

2. Calligraphy

3. Moulting

4. Choreography

Correct Answer :-

« Calligraphy

5) DIRECTIONS: A sentence with an underlined idiomatic expression is given.
What is the meaning of the idiomatic expression ‘threw dust in their eyes' in
the sentence given below?

The Minister threw dust in their eyes, talking about a flight at the airport when
he was heading for the highway.

1. cheated or deceived them
2. enlightened or educated them

3. inspired or motivated them

4. None of the above

Correct Answer :-

o cheated or deceived them

6) DIRECTIONS: A sentence with an underlined idiomatic expression is given.
What is the meaning of the idiomatic expression ‘To make neither head nor tail
of anything ‘in the sentence given below?



I could make neither head nor tail of the instructions given on the packet.

1. None of the above
2. was not able to understand anything
3. was unable to write with full concentration

4. was able to understand everything completely

Correct Answer :-

« was not able to understand anything

7) DIRECTIONS: A sentence with an underlined word is given below. Find the
Word which is most similar in meaning to the underlined word.

Her pockets were bulging with presents.
1. swelling

2. contracting

3. shrinking

4. diminishing

Correct Answer :-

« swelling

8) DIRECTIONS: A sentence with an underlined word is given below. Find the
word which is opposite to the highlighted word from the given options.

Isn't it rather vulgar to talk about how much money you earn?
1. indecent

2. gaudy

3. obscene

4. refined

Correct Answer :-

« refined

9) DIRECTIONS: A sentence with an underlined word is given below. Find the
word which is opposite to the highlighted word from the given options.



In the second game, her opponent hurt her leg and had to retire.
1. supporter

2. adversary

3. rival

4. foe

Correct Answer :-

e supporter

10) DIRECTIONS: In the given sentence there might be an error. Find out which
part of the sentence has an error. If there is no error, mark your answer as (d)
i.e. ‘No error’.

The doctor (a)/ recommended swimming (b)/ as the best all-round exercise.
(c)/ No Error (d)

1. (a)
2. (b)
3.(d)
4. (c)

Correct Answer :-

11) DIRECTIONS: In the given sentence there might be an error. Find out which
part of the sentence has an error. If there is no error, mark your answer as (d)
i.e. ‘No error’.

Everything is going (a)/ according to the plan, (b)/ is it? (c)/ No Error (d)
1. (a)

2. (b)

3. (d)

4. (c)

Correct Answer :-

- (0)



12) DIRECTIONS: Fill in the blank with the correct Preposition.
Temperatures rarely rise zero in winter.

1. above

2. beneath

3. below

4. between

Correct Answer :-

e above

13) DIRECTIONS: Fill in the blank with the correct Preposition.
There was no soap, so the child just quickly rinsed his hands the tap.
1. among

2.into

3. under

4. besides

Correct Answer :-

« under

14) DIRECTIONS: Fill in the blank with the correct article.

The cook has__ huge collection of sharp knives.

1. No article required

2. the

3.an

4. a

Correct Answer :-

15) DIRECTIONS: Fill in the blank with the correct article.

cream used for the pudding was very thick.



1. An
2. The
3. No article required

4. A

Correct Answer :-

« The

16) DIRECTIONS: Out of the given four options, choose the correct Conjunction
to fill in the blank given in the sentence.

Of all the songs I've heard tonight, that's the best
1. yet

2. but

3.s0

4. although

Correct Answer :-

e yet

17) DIRECTIONS: Out of the given four sentences, choose the one which is
grammatically correct.

1. Both of they goes for a walk in the morning
2. Both of them goes for the walk at the morning
3. Both of them go for a walk in the morning

4. Both of them goes for an walk in the morning

Correct Answer :-
« Both of them go for a walk in the morning

18) DIRECTIONS: Out of the given four sentences, choose the one which is
grammatically correct.

1. Meera has been preparing of the exam from the past two years

2. Meera has been preparing for the exam since the past two years



3. Meera has been preparing for the exam for the past two years

4. Meera have been preparing for the exam for the past two years

Correct Answer :-

« Meera has been preparing for the exam for the past two years

19) DIRECTIONS: Out of the given four options choose one to join the two
sentences given below to make a meaningful sentence.

He will succeed.
He is hard working.

1. Though

2. Because
3. But

4. Despite

Correct Answer :-

e Because

20) DIRECTIONS: Out of the given options, choose the most appropriate one to
fill in the blank.

Men and women compete for jobs on an equal footing.
1. ought to be able to

2. ought to have

3. ought not to have

4. could have

Correct Answer :-

« ought to be able to

Topic:- General Science

1) Which is not a rubber polymer?/ $I--9T1 36X 9§00 -l &2
1. P.M.M.A.
2. Neoprene/ 3=



3. Gutta percha/TETtthnc
4. Buna-S &l

Correct Answer :-

« PPM.M.A.

2) In unsaturated compound have-/ 3w AP A UrT ST 8-
1. Carbon - oxygen double bond/ HTaH-3{TateH-fga

2. Carbon - carbon triple bond/ PIe-BIa- AT

3. Carbon - carbon double bond/ qol@lrd—wlsfd-@q'u

4. Carbon - carbon double and triple bond/ ®Te-BTa-fg quT Baw

Correct Answer :-

« Carbon - carbon double and triple bond/ ®Te-®Ta-fg quT Baw

3) The level of normal conversation is about dB./ AT STa<id T &R &
dB

1. 100-200
2. 60-100

3. 40-60

4. below 60/ 60 ¥ &Y

Correct Answer :-

4) The biological process carried on by the Rhizobium is called-/ ISSIfIUH §RT &1
W arelt wifa® ufshar &:

1. Fermentation/ fhugaa
2. Nitrogen fixation/ -TScIoH RRIHRUT

3. Nitrification/ IS¢ IHRU]
4. Ammonification/ 3BT

Correct Answer :-



« Nitrification/ =S¢ iUl

5) Cuscuta is an example of-/ WTCETETUT%-
1. Parasite/ Hguildl &l

2. None of these/SH I s g1

3. Autotroph/ art &1

4. Saprophyte/ gdlgsiidl &1

Correct Answer :-

« Parasite/ HT:!\_rﬂﬂT DI

6) Water is disinfected by -/ STd 3 {Ad gidT 8-
1. UV-radiations/UV-fafesur gr

2. Chlorine/ &R gRI

3. All of these/ 3 Tt

4. Ozone/ 3N gRT

Correct Answer :-

« All of these/ T g+

7) For a concave mirror when the object is placed between the pole and the
focus then the image formed will be-/ wmﬁa&w%ﬁlﬁmm, gaamuﬁw%
Ao fRya g, o fAffa ufafawa g

1. Virtual/3mHrdt
2. Diminished/ g
3. Real/ arid®

4. Inverted/ 3¢

Correct Answer :-

« Virtual/3mHrdt

8) Aspirin is an/ TRUNA g U&-



1. Antimalarial/ AR
2. Antipyretic/ digeaR-TRiT

3. Antiseptic/ { cRIeh
4. Narotic/ TR®ICH

Correct Answer :-

« Antipyretic/ digoaxT=i

9) The material used in photoelectric cells contains-/mﬁgﬂﬁﬁﬁﬁaﬁﬂwqm%f
ST # forar o -

1. Cs
2. Mg
3. Li

4. Be

Correct Answer :-

10) The force you use to stretch a rubber band is-/ T&% &R 38 @) TWiTA # Wgad

z-

1. Magnetic force/ Ww

2. Gravitational force/ Tc@Ig g
3. Muscular force/ ArIURMAT §@

4. Frictional force/‘EITSfUTEI?T

Correct Answer :-

« Muscular force/ ATEURRT

11) Acids are formed when-/ 3% 9-d g, STd-

1. Oxides of non-metals dissolve in water/ H%ﬁ% &mwﬁﬁaﬁ@ﬁ%
2. Bases dissolve in water/ &RI & 5/d # €ia 0 foba1 gicit 3

3. Metals react with water/ U@Gﬁﬁﬁﬁ@[m@?ﬂ%



4. Metals combine with oxygen/ HTq e & Ty T B ©

Correct Answer :-

. Oxides of non-metals dissolve in water/ 3eTg3fl & RS a & f[qad gId §

12) A plant can be grown from tissue-culture is-/ UIgU Sl Ha® Yad= ¥ ufafdfa g
Tl 8-

1. Orchid/ 3l

2. Grapevine/ DLCICES]
3. Pear/ U

4, Cherry/aﬂ

Correct Answer :-

« Orchid/3iifHhs

13) Electric charge can flow only through-/ fagad 3ima=1 &aa o § yarfed st
T 8-

1. None of these/%ﬁﬁ@[ﬁﬁ'ﬁc:@'
2. Both of the above/G'CIﬂ?ﬁEﬂ:ﬁ

3. Conductors/ dlddh

4. Insulators/ P

Correct Answer :-

« Conductors/ dlcidh

14) Which one of the following is an example of rare species?/ ﬁmﬁﬁmgﬁu
STfd T 3STER01 32

1. Indian elephant/ YR greht
2. Duck/ ddd
3. Python/ 3R

4. Musk deer/ A% fgur

Correct Answer :-



« Musk deer/ H%&® fgrur

15) Which of the following is the least?/ 79 # ¥ H9-T1 94 &H &-
1. Limiting friction/?ﬂﬁiﬂ‘aﬁfm

2. Rolling friction/ <iet gyor

3. Static friction/ Rfaes gy

4. Sliding friction/ T S0T

Correct Answer :-

« Rolling friction/ clet TeoT

16) A positively charged ion is called-/ T®% YFTHSD AT AT ST 8-
1. Neutralion/ 3¢ g1 3
2. Anion/ G

3. Atom/ URHIY]
4. Cation/&cTa

Correct Answer :-

. Cation/&era

17) Hydrogen is-/ §13SI5H 8

1. Electropositive/ ﬁgEIH‘EFﬁ

2. Electronegative/ ﬁ'g{q?ﬁmﬁ

3. Both electropositive as well as electronegative/ fagaau-t aur fagaas ol gHl
4. Neither electropositive nor electronegative/-T ﬁgﬂﬁﬂ:ﬁm‘eﬁﬁwﬁ

Correct Answer :-

« Both electropositive as well as electronegative/ ﬁg’q?fﬂ:ﬁ awﬁwl?ﬁ?ﬁf

18) The water holding capacity is highest in-/ ST ARV I=aH glel 8-

1. Mixture of sandy and loamy soil/ ST ayT gie fAgt o



2. Sandy soil/ ST H

3. Loamy soiI/Eﬁ'HEIETﬁ
4. Clayey soiI/ﬁlﬂFﬁﬁ?{ﬁ
Correct Answer :-

. Loamy soil/ GHc a1 o

19) Force exerted by the muscles is known as-/ HIF-URRNY gRT T AT 99 pedArdl

1. Mechanical force/ JiA® da
2. Electrostatic force/ fagad ad
3. Gravitational force/ T&c@IT g

4. Muscular force/ X IR g

Correct Answer :-

e Muscular force/ R IR §d

20) The method of purifying metals by passing electricity is called-/ ﬁgtm%rm

TaTiRd SRR UTg YfGbu 31 Il sgard 2-
1. Electroplating/ Scide @it

2. Electrorefining/ géaaﬁmﬁﬂ

3. Electrolysis/ ﬁ'g{q?f SfUYcH

4. None of these/ TTH 4 ®1g 6!

Correct Answer :-

« Electrorefining/ STdCIRBIEIT

Topic:- General Knowledge

1) With which of the following sports is Madhya Pradesh’s Varsha Varman

associated?/ fFafafa ¥ @ f5a @a & wry veavew et aut o= 3t g5 82
1. Shooting/ﬁ“ﬂﬁaﬁrﬁ
2. Tennis/ A9



3. Badminton/ Ssftied
4, Shot-put/ Qﬁ?:’-g?:’

Correct Answer :-

« Shooting/ IBRUEEIS

2) At which of the following places of Madhya Pradesh is the ‘Kumar Gandharva
Samaroh’ organised? /AU & fAfIfEd wHl § @ '$UR Tud JURIE' $T RS HIH-
A T W o Sran 82

1. Dewas/ <ag

2. Indore/ 2R
3. Gwalior/ TaTfeRR
4. Bhopal/ HdTdl

Correct Answer :-

« Dewas/ <arg

3) Sardarpur Wildlife Sanctuary is situated in the district of —/ IRGRYR T=IGq
IR P-4 ford # fRua g2

1. Damoh/ Etﬁ_&'
2. Khandwa/ @&d1
3. Ratlam/ ¥ddH

4. Dhar/ 4R

Correct Answer :-

4) Nepa Mills is present in the district of:/#mﬁﬁﬁ?\qﬁlﬁﬁﬁ\_ﬁ'%?
1. Shahdol/RMgSId
2. Burhanpur/qRgMyR

3. Chhatarpur/&dyqR
4. Raisen/IAA



Correct Answer :-

« Burhanpur/dRgHYR

5) Where is the Madhya Pradesh High Court situated? e USR 1 I UATAd Hel
R g?

1. Indore/ 3R
2. Gwalior/ IR
3. Bhopal/ HraTd

4. Jabalpur/ SISeT4R
Correct Answer :-

« Jabalpur/ SI§eyR

6) Where is the headquarters of the West Central Railway? / Uf3¥# 4&1 ¥eid &1
URBTed HEl (U 32

1. Bhopal /ﬂ-ﬁTTIFI

2. Gwalior / TaIfeiR

3. Hoshangabad/‘Eﬁﬂ'?TIEﬂT:(r
4, Jabalpur / SIFqYR

Correct Answer :-

« Jabalpur / Jdd4R

7) The Madhya Pradesh State Government have a monopoly on collection and

transportation of -/ WU Ieg WHR & A7 Il # | fHud Tugur 3R uRaga w®
THIUPR 3?2

1. Cotton/ ®U™q

2. Rice/ d1dd

3. Timber/ Flib_cﬁ

4, Tendu Ieaf/ﬁ‘g’q?ﬂ

Correct Answer :-

« Tendu leaf/ dg U<l



8) The Madan Mahal Fort is situated in - / ¢ Hgd &1 fbdl Hal AT 22
1. Mandu / 91§
2. Gwalior / TaTfeiR

3. Khajuraho/ E@QI%I
4. Jabalpur / SIdeTgR
Correct Answer :-

« Jabalpur/Sdegr

9) Till which year did Indore serve as the capital of Madhya Bharat? / frg af aw
SR T HRA P IeTeT= A

1. 1952
2. 1950
3.1954

4.1956

Correct Answer :-

« 1956

10) Who founded the Orchha state?/ 33T I $1 WTYAT fhyq &1 A?
1. King Rudra Pratap Singh / 35T %% Ud &g

2. King Bharati Chandra/ el YRd! 9

3. King Narendra Pratap/?‘lﬁﬂ:ﬁ?uﬁﬂ

4. King Manvendra/wrlﬁa?

Correct Answer :-

« King Rudra Pratap Singh / 35T %% Uarg &g

11) The recently inaugurated world level weapon production unit in Bhind
district, is a joint partnership of Punj Llyod and | gTa gt ¥ fijs o A
Seurfed frar 4T fay T 3Rd-ITe SHTS Yo A19s T ¥ dI¥ Tgad AR’ &
e I 3|



1. Israel Weapon Industry / SoRIgd 90 S8

2. France Weapons Industry / T 90 S

3. American Weapon Industry / 3AR&H 09 SS!
4. Britain Weapon Industry/@éq%q:{é?:@

Correct Answer :-

« Israel Weapon Industry / 3oRISd dU- S8%

12) Which of the following towns is situated in the district of Shivpuri?/

Frufafed & & 1H-a1 7er Regd o 4 Ra g2
1. None of the above / IWIad H Y P13 ol

2. Both of the above / IRl Gl g1

3. Kolaras / ®IARY

4, Narwar / F¥dX

Correct Answer :-

e Both of the above/maﬁﬁ

13) Which of the following districts of Madhya Pradesh is called the Energy

Capi%al of India? / A9 & A AU & HIH-T A B HRd 1 ISl IS & ATH I ST
CIGIEH

1. Singrauli/@iﬂﬁ?ﬁ
2. Satna/ gd-I

3. Khargone/“@l’ﬂ'ﬁq
4. Ujjain/Ii
Correct Answer :-

. Singrauli/ RITRIcH

14) Which of the following works is not of Nida Fazli? / 9 # @ ®19-3} fAer wrereht
P AT TE B2

1. Duniya ek khilona hai /g1 t& faa-rg

2. Ek atoot bandhan / T 3i¢c g4+



3. Lafzon ke phool /W?Ug_d

4. Khoya hua sa sach /&1 §3{1 41 I

Correct Answer :-

« Ek atoot bandhan /T 3i¢c ¢+

15) Which of the following places is/are famous for sarees? /A AP
el & g faerma 32

1. None of these/@ﬂﬂﬁﬁ@[ﬁéﬂ%’f
2. Both of the above /B'Qﬂ?ﬁﬁﬂzﬁ
3. Maheshwar / Ag4R

4. Chanderi / Tc3

Correct Answer :-

« Both of the above /B@Tﬁr?ﬂzﬁ

16) Madhya Pradesh is on way to develop a Happiness Index. Which of the
following countries is the only one to have such an index?/ kuﬁ"\’rﬁ&ﬁ-ﬁﬂw
faofa #31 Ft W8 R 3| Fafrfad # Q 19- J 331 F e 391 Yuai 82

1. Bhutan/ HcH

2. China/ @1

3. Nepal/ﬁtﬂﬁ

4. USA/ Igad oY 3AR®T

Correct Answer :-

« Bhutan/ {cH

17) Which dynasty had built the famous Khajuraho temples?/ﬂﬁl&'@ﬂ?‘lﬁﬁﬁ?
5T 91 & GIRT =TI TR UT?

1. Parmar dynasty/ TRHR Jold
2. Sunga dynasty/ g Jelde]
3. Chandel dynasty/ Tgd oAy

4. Pratihar dynasty/ UfdgR Siae



Correct Answer :-

« Chandel dynasty/ Jed IJold

18) Who among the following has not been sworn in as Chief Minister of

Madhya Pradesh more than once?/ FE A 3 [P AA U & A F FUATH A
3T IR AU & d?

1. Shyama Charan Shukla/ RYTHT TRUT J[all
2. Uma Bharti/ 3HT 4R

3. Bhagwantrao Mandloi/ HTdcRTd HEdTg
4. Motilal Vora/liﬁ?ﬂﬂ'lﬁﬁhﬂ

Correct Answer :-

« Uma Bharti/ AT HRGl

19) As per Census 2011, what is Madhya Pradesh’s percentage share in the
total population of India? / SFIFIUMT 2011 & AR HIRA D Fd TETG H A USRI BT
ufasra few w82

1.6.5%
2.6.0%
3.5.8%

4.5.5%

Correct Answer :-

20) In which area of the state, was Chandrashekhar Azad underground for

some time?/ <9 & fHH &7 § d5RER 3M6IE $© T99 & g yferma A2
1. Orchha (Tikamgarh)/ 3RS C1HHTG)

2. Mandsaur/ HadR

3. Jhabua/ ATd3HT

4. Rewa/ Jar

Correct Answer :-



« Orchha (Tikamgarh)/ 3R®T (CIHHTE)

Topic:- General Hindi

1) WETedt awi &1 P AT § -
1. X U8

2. BT UG

3. HYT UG

4. YR IUg

Correct Answer :-

. BIH IUB

2) 3R PIfAATA<?
1. 3R

2.

3. gl

4. 3D

Correct Answer :-

;);I%‘W?%Hﬂ?ng#%mg%m, el el g Y JeHt 3 pI garer- ufed
1. SUHT APR

2. 3Ifad ABR

BeLPUIESRENEAR

4. ffaRMAIfGd APR

Correct Answer :-

. 3G EBR



4) ‘Higd fUsad N Ia A Faepar H¥gdi o'~ A o :

1. HTARAS aTad
2. SHBRAD AT

3. Ay a® ar

4. Joharf arr

Correct Answer :-

. faymam® ag

5) WIS} AT YTy ST AR

1. TS BT R o ST

2. R e & U o TART I BT H Qg bl GRT A
3. fora gu ! e

4. qg BT BT

Correct Answer :-

6) ‘Probation’ &I %iﬂ TIRHTNY® U % :
1. GHIE

2. dtar

3. UIRdT&f

4. lemafe

Correct Answer :-

. gfaterm



4. Tagad

Correct Answer :-

. 3ad gt

. HTHYRY

Correct Answer :-

o

10) gg 3 SR g AT UT- AT B ;
1. RIS TG

Correct Answer :-

. feuneaiyes Tam



11) ‘IJ= fored & il @A aredl ygE@ et B
1. et
2. gadl
3. gUt
4, Hrerdt

Correct Answer :-

12) BT Xeg BT HF T B :
1. q%d

2. fovu-g@ ot g1

3. QT

4. TS

Correct Answer :-

. fooef dfy



4. QRIS

Correct Answer :-

15) ALY A USRI Afgfe a1 2 :
1. Hifgcd HRal

2. FY™

3.%9

4. HI&Th R

Correct Answer :-

« Yl&lech R

Correct Answer :-

- gfge fgdl & s

17) fafafeq o fodw ssg-gm adi e :
1. G9G-3fRY

2. 3H-fafRry

3. RITAR-STH

4. are-fqdrg

Correct Answer :-



18) FaffRea A g a8

1. T 59 WM FfE I & FH3A 1 HUT B |
2. HIIT HUT HReh T SABI o B T Be |
3. 98 He1 3MUH! Yd g

4. Ugd ORI o1 AT

Correct Answer :-

- UG Bl 3UB! 4l 5

19) FRfIfET A s v 7 :
1. fARke

2. 35dd

3. PIgEa
4. TIRE

Correct Answer :-

20) fFafafad o a=fd fiemde sI-gm =i g :
1. PHR-RhR
2. gfauT-ufaar

3. 9g-9g
4. U134

Correct Answer :-

Topic:- General Maths

1) DIRECTIONS: Find the wrong term in the given number series: /e Eﬁgﬁ
e guft § Terd g 91d Y|

15, 28, 43, 60, 79, 110, 135



1.135
2.60
3.110

4. 28

Correct Answer :-

« 135

2) The roots of the quadratic equation x2 + 729 = 0 are:/fgara &0 x2 + 729
= 0P Yds:

1. None of these/ 378 ¥ &5 -Ta!
2. Real and unequal/ IRAfa® 3R A

3. Real and equal/arfde 3R SRR

4. Imaginary/®Tedfd

Correct Answer :-

. Imaginary/m

3) The total sum of ages of A, B and C at present is 90 years. Ten years ago the
ratio of their ages was 1: 2: 3 respectively. Then the present age of B is: /A, B

3R C B TdAT 3T BT Ha AT 90 T9 g1 10 T8 Yd I9P TG BT SJUTd HHRT: 1: 2 : 3 B, I BHL
U 3 8:

1. 25 years/25"q'5f
2. 28 years/28 9%
3.30 years/306|13f

4. 40 years/40 a9

Correct Answer :-

« 30 years/306|13f

4) How many diagonals are there in a octagon?/T&% W‘Hﬁﬁﬁﬁﬁﬁwm%?
1. 20

2. 14



3.18

4. 10

Correct Answer :-

5) If A:B is 2:3. B:Cis 6:11, then A:B:C is:/qﬁA:B= 2:3, B:C =6:11,dd A:B:CHI

BRI

1.2:6:11
2.4:6:11
3.2:3:11

4,4:6:22

Correct Answer :-

e 4:6:11

6) In which of the following is the lengths of diagonals equal?/ = # 3 T
fawur ot araTs waE gl 82

1. Rectangle/3ad
2. Trapezium/Jadd agyd

3. Parallelogram/dHIR E@;IGI

4, Rhombus/wﬁlﬂﬂﬁ

Correct Answer :-

« Rectangle/3dd

7) A man lent Rs.2000 partly at 5% per annum and the balance at 4% per
annum. If he receives Rs.92 as annual interest, find the amount lent at 5%./T%

3MeHI 4 2000 . & TP HNT P 5% YD TS B STV TUT AY HIT B 4% qIfid TS BT A
IR faar| afe 3 S R U 9 & $a1 92 F. HT TS UK g &, ot 39 3MeHl §RT 5% W & T
YRR AT

1. % 900
2.3 1200

3.3 800



4. 31000

Correct Answer :-

« 31200

8) DIRECTIONS: What should come in place of the question mark (?) in the
following series?/fdwr: Fafafaa goft & yyare i (2) & I W T4 34T A1 E?

1+1+1_Tr
10 40 88

4,10

9) DIRECTIONS: What should come in place of the question mark (?) in the
following series?/fAdxr: FAufafad 2ol # wsars fomg (2) & M W F1 3rAT Tnfge?

16,4, 2,1.5,?,1.875
1.1.75

2.2

3.1.5

4.1.875

Correct Answer :-



17

The sum of a number and its reciprocal is I. Find the numbers:/wﬁ'@TGﬁ?
17

ITF HEHT FTANT 4 2| TSI J1d FY

1.2, 2

e |

2.4,

Ll

11) Price of sugar increases by 20%. By how much percent should the
consumption of sugar be reduced so that the expenditure does not change?/

ANt & gea & 20% i @) w1t @ ot A1 @ Tua A fra wfawra & @1 5 % @ & ufvada
agr

2
1.163%

2.20%
3.15%

4.10%

Correct Answer :-

12) Mohan, a shopkeeper, bought a shirt of list price Rs.225 at a discount of
20%. If he wants a profit of 30% then he should sell the shirt for (in Rs.):/'l:ﬁ%:r
it fh U gPTFIGR ©, Siftrd Yew 225 <. ATl HHIN 20% Fe R a1l afe a8 30% a1y
TEaT & o 3 HHI fbaq 3. § Fu- gnfr?

1. 286

2. 256



3.230

4. 234

Correct Answer :-

« 234

13) A certain number of men complete a work in 160 days. If there were 18
men more, the work could be finished in 20 days less. How many men were

initially there? / $© afad fas: fHd &1d 1 160 & Wi o= &, afe 18 =fd i gla,
T BT RT B A 20 37T F0 09 Tar| R™ ¥ 981 fva- afaq A2

1.126
2.116
3.124

4,122

Correct Answer :-

« 126

14) A person covers a certain distance in 40 minutes, if he runs at a speed of 45
kmph on an average. Find the speed at which he must run to reduce the time of

Journey to 30 minutes./ T Sfad U 3a Tfd 45 forrit/aer @ ver e gt 40 e
W a9 B 81 afe g8t B 30 e & au w3 81, @ aafeq &) nifa 3ra sk

1. 36 kmph/36 fediEuer
2. 60 kmph/60 faHl/aueT
3. 50 kmph/50 faei/auer

4. 35 kmph/35 foHt/=Uer

Correct Answer :-

« 60 kmph/60 fe&Ht/=UeT

15) A contractor undertakes to dig a canal 12 km long in 350 days and employs
45 men. After 200 days he finds that only 4.5 km of the canal has been
completed. Find the number of extra men he must employ to finish the work in
time:/U® 3¥eR 12 f5 1t ddt 78v 350 A1 ¥ Wign & forw 45 el @ 1 wR amar 81
200 Y 915 98 UTdT @ 7 783 31 Paa 4.5 5.1, € W T 81 3d: BTH B THT W R B
& fore 39 3R fvamt Smefr &Y &8 IR @I g2



1. 65 men/65 3GH!
2. 75 men/75 3TGH!
3. 55 men/55 3TgH!
4. 45 men/45 SMTGHT

Correct Answer :-

« 55 men/55 3GHT

16) Monthly expenditures (in ¥) of a family on rent, food, clothing and other
miscellaneous items are Rs.1000, Rs.1500, Rs.350 and Rs.750 respectively. If
this information is presented with the help of a pie chart, then the angle for

clothing is:/ T® URAR & AHH fHmar, HivH, Fus 3R fafdy w wifre @< w9 $.1000,
%ﬁggr,rasso 3R %.750 21 afe ag a1 urg T & uread | &} 9 o) US| W W BT A

o

1. 15

o

2.45

3.60

o

4. 35

Correct Answer :-

17) A truck covered a distance of 780 km in 12 hours. What distance would a
car cover in 11 hours travelling at a speed which is seven kmph more than that

of the truck?/ T& ¢& 12 He ® 780 fohift 3t gt 7 wa1 81 U &R omyet fd g St i @
7 frddider ol 8, 11 6 o fa-it gt aa s

1. 792 km/792 fodi
2. 810 km/810 fabdt
3. 650 km/650 ol
4.735 km/735 fodl

Correct Answer :-

« 792 km/792 et



18) Consider the following statements /9 $Y=-1 U= &= ¢-
The number 23 is:/ IS 23 §:

1. A prime number /T U ST

2. A real number/T& QS JABT

3. An irrational number/T% URAT TBAT

4. A rational number/T& URAY J=T

1.1, 2,3 arecorrect/ 1, 2, 3 el g

2.1,2,4arecorrect/ 1, 2, 4 Hﬁ%

3.1, 3, 4 are correct/1, 3, 4 gl g

4.2, 3, 4 are correct/ 2, 3, 4 el

Correct Answer :-

« 1,2, 4arecorrect/ 1, 2, 4 951§

19) Find the smallest of the following fractions./fFafaf@a fasl # ¥ gad sid i
I B

23

3. 56
55
4,11

Correct Answer :-

20) Find the largest of the following fractions./FgfeRad fu#i & & 99 g8t f¥= 319
x4

4
1.9



52

2. 87

41

3. 76

111
4. 190

Correct Answer :-



